+ T it B & (3t 1)

HEHl AR LD

V= 1626.06 X  0.10 = 162.61 | m3 162. 6
FHIA V=" 162.61 = 162.61 | m3 162. 6
T 1E R IR

V= 162.61 = 162.61

X = 162.61 | m3 162. 6
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g T BAET LD
(topl3 t=50mm) A= 1626.06 1626. 06 |m2 1626. 1
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B aE Y B ETHEBEE (3% 1)

EEY HUE L T

iRl

(7AZ77 /RN L= 11.80 + 4.90 + 4.90 + 5.45

(t=15cmPL ) + 13.45 + 12.92 = 53.42 | m 53.4
(No. 0:11. 80m) + (No. 7+12. 00: 4. 90m) + (No. 9: 4. 90m
Y+ (No. 17+5. 00:5. 45m) + (No. 4fF
W :13. 45m) + (No. 54T : 12. 92m)

T AT 7V h I Uit A E LY

ETERREUE L | A= 1626. 06 = 1626.06 | m2 1626. 1

(t=10cmlL T)

SRR ALER T

TR AsHUEL X0

(AsHl) V= 1626.06 X  0.05 — 81.30 | m3 81.3
ALy FEfE (AsBl) RV

(AsHH) V= 81.30 = 81.30 | m3 81.3
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X B H I 3 &H =& (—3%4 )

SO
(HLE ZMATRR)
M E# | L= 347.30  +  330.40 = 677.70
(A, ME15cm, FEH1) Yoo E
(HyE TP, (No. 0FHIT)
L= 10.05 = 10. 05
> = 687.75 | m 687. 8
SRE T
(f1, 8 15em, 550 | L=  1.00 X 20.00 = 20. 00
> = 20.00 | m 20. 0
X[ (IkEn) G &)
(1, W5en#sE, o - ) | L= 6. 30 X 1. 00 = 6. 30
6. 30m/ T
( MEEEE] £R)
= 88.60 X 1.00 = 88. 60
3%88. 60m/ & it
> = 94.90 | m 94. 9
QLR CEPE)
(#, f@15em, %2 | L=  4.00 +  4.50 = 8. 50

(No. 5J31) (No. 10fH3T)
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